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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017

SANSKRIT-HONOURS
PAPER-SANA-VIII

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

UNIT-I
(Full Marks-70)

b adrsimeinR wa -

(a) ‘wifeuferiferaRammaemm verr 3 gErem: afdes aRfSsaam) 10
arerar
(b) IURFHRGARGE HeaT ey e | 10
2. G gl GRART AR — 5x2=10
(a) W= Fl

(b) Forariiuuer o AT wenfa:

(c) ATIHTH HITH
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(d) SHIUTE HHT
(&) TV g WA HITAHUR|

3. e dftaaey ARAET -
(a) @ = gdv Rwgafaaaama:
(b) THHfdgEma § WA HAHESTI
(c) wafterafammarsigony wfm, s

4, NS JATB A ATHRIRTHAT NPT AT -—
(a) I>fATHH
(b) 3mTR:
(c) T
d) ¥F
(e) freafRom

5. XEfaEt e ga W weRoRmRRTei Fof —
(a) THARIBTT: W7 |
(b) 3 draafa
(c) RHaar T wwafn

(d) gy 9|
(e) =HfT v &
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6. wWINHG YFgd GART IAETq — 5%x2=10
(a) SugeHfS|
(b) T3 anhfY T
(c) Irg=asamY =
(d) Ryl fadrdor qga!
(e) SuHmEIfA wWrET=gEEA:|

7. A g3 dffaaeTaReE: Ehaan — 5x2=10
(a) IRPRISTFITTa ArRaiRg yrEFM Freaanraei
(b) sgeUEY waNUTRERERRA
(c) T 5 TRPRPIIYSH! P T FaRwge W oo |
(d) afrearsd o e qeRmd HsmymmorEry senfy fem

areran
g AT AT — 5x2=10
(a) SUHST
(b) TF:
(c) Wiyagvsy
(d) TERES:
5
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8. sEMferaari g ged: R WA R —
(a) wfefeT
(b) =TI
(c) Ir=erEy
(d) TveTEfts
(e) fg=m
UNIT-II
(Full Marks-30)
9. Answer any two questions from the following:
(2) Write a note on the origin of writing in India.
(b) Write an informative note on epic Sanskrit.
(¢) What is meant by phonetic law? Explain Grimm’s Law with examples.
(d) Write an informative note on the non-Aryan influence in Sanskrit.
10.  Write short notes on any two of the following:
(a) Verner’s Law
(b) Epenthesis
(c) Cerebralisation
(d) Accent.
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5x2=10

10x2 =20
10

10

3+7

10

5x2=10




